

#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Progress Estimate Number 5	Contract ID Prime Contract	241018 or Putz C	3-H01 onstruction, LLC	•	iod Start iod End	August 16, 2025 September 1, 20		Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,585,743.7 \$0.0 \$1,585,743.7	
Approval Date									By User	
September 2, 2025			Generated a	ınd Approv	ed (and sh	ould be considere	d Draft	) at the Project Office Level by	holtb3	
September 2, 2025			Reviewed and A	pproved (a	and should I	oe considered Dra	ıft) at th	ne Resident Engineer Level by	leez1	
September 4, 2025				Review	ved and Ap	proved at the Cen	tral Off	fice Controllers Office Level by	ramses1	
Original Completi	on Date	Current C	ompletion Date Actual Completion Date					% of Current Contract Amount	Complete	
November 1, 2	025	Noven	nber 1, 2025	er 1, 2025 63.15%						
	Cont	ract Informa	tional Dates					Milestones		
Date Description	Original Comp	oletion Date	Current Complet	ion Date		No Milest	ones E	xist for Contract		
Acceptance Date										
Awarded Date	November 8, 2	024	November 8, 2024	1						
Letting Date	October 18, 20	24	October 18, 2024							
Notice to Proceed Date	December 9, 2	024	December 9, 2024	1						
Work Began Date										

Contract Total Pa	ay For Estimate No. 5				
		This Estimate	Previous	To Date	
241018-H01					
	Total Posted Items Pay	\$184,943.40	\$816,489.64	\$1,001,433.04	
	Gross Item Adjustments	(\$67,924.21)	\$144,305.05	\$76,380.84	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$960,794.69	\$1,077,813.88	
Contract Total Pa	avable This Estimate	\$117 019 19			

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3575	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$95,000.000	0.300	\$28,500.00
	0040	2072000	LINEAR GRADING CLASS 2	STA	\$1,630.000	1.700	\$2,771.00
	0050	6089905	MISC.8" Modified Paved Approach	SQYD	\$88.000	556	\$48,928.00
	0110	6116010A	SLOPE PROTECTION	SQYD	\$146.000	111.900	\$16,337.40
	0200	7250315A	15 IN. PIPE GROUP B	LF	\$98.000	92	\$9,016.00
	0240	7250354A	54 IN. PIPE GROUP B	LF	\$200.000	120	\$24,000.00
	0260	7252005	CORRUGATED METALLIC-COATED STEEL PIPE-ARCH TYPE B-5	LF	\$115.000	116	\$13,340.00
	0280	7321021A	54 IN. OR ALLOWED SUBSTITUTE SAFETY SLOPE END SECTION	EA	\$10,500.000	4	\$42,000.00
	0290	8025006	MULCHING	ACRE	\$2,500.000	0.010	\$25.00
	0310	8051000A	SEEDING - COOL SEASON GRASSES	ACRE	\$2,600.000	0.010	\$26.00

 Project J9P3575 - Total
 \$184,943.40

 Overall - Total
 \$184,943.40

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line item /	Aajusti	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3575	0050	MISC.	Material			-1,703.30000	\$88.00	(\$149,890.40)
	0050	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user canton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	1,703.30000	\$88.00	\$149,890.40

Revision 9/2/2025 Page 1 of 12



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Estimate	gress e Numl 5		41018-H01 otz Construction		ay Period Start ay Period End	August 16, 2025 September 1, 2025	Net Ch	al Contract An nange Order An nt Contract Am	mount	\$1,585,743.74 \$0.00 \$1,585,743.74
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
9P3575	0060	CONCRETE GUTTER TYPE A	Material					-48.60000	\$125.00	(\$6,075.00)
	0060	CONCRETE GUTTER TYPE A	Material		generated Mate Adjustment (000	offsets the original sys rial Payment Estimate I I2) due to user canton1 ment Estimate Exceptionent Estimate.	tem	48.60000	\$125.00	\$6,075.00
	0110	SLOPE PROTECTION	Material					-111.90000	\$146.00	(\$16,337.40)
	0110	SLOPE PROTECTION	Material		generated Mate Adjustment (000	offsets the original sys rial Payment Estimate I 4) due to user canton1 ment Estimate Exceptionent Estimate.	tem	111.90000	\$146.00	\$16,337.40
	0110	SLOPE PROTECTION	Overrun					-71.90000	\$146.00	(\$10,497.40)
	0200	15 IN. PIPE GROUP B	Construction Stockpile		Payment Estima Stockpile Transa	ate Item Adjustment ger action	nerated			(\$623.17)
	0240	54 IN. PIPE GROUP B	Construction Stockpile		Payment Estima Stockpile Transa	nte Item Adjustment ger action	nerated			(\$12,165.60)
	0260	CORRUGATED METALLIC- COATED STEEL PIPE-ARCH TYPE B-5	Construction Stockpile		Payment Estima Stockpile Transa	ate Item Adjustment ger action	nerated			(\$6,663.04)
	0280	54 IN. OR ALLOWED SUBSTITUTE SAFETY SLOPE END SECTION	Construction Stockpile		Payment Estima Stockpile Transa	ate Item Adjustment ger action	nerated			(\$37,975.00)
	0290	MULCHING	Material					-0.50000	\$2,500.00	(\$1,250.00)
	0290	MULCHING	Material		generated Mate Adjustment (000	offsets the original sys rial Payment Estimate I 9) due to user canton1 ment Estimate Exceptionent Estimate.	tem	0.50000	\$2,500.00	\$1,250.00
	0310	SEEDING - COOL SEASON GRASSES	Material					-0.50000	\$2,600.00	(\$1,300.00)
	0310	SEEDING - COOL SEASON GRASSES	Material		generated Mate Adjustment (001	offsets the original sys rial Payment Estimate I 0) due to user canton1 ment Estimate Exceptionent Estimate.	tem	0.50000	\$2,600.00	\$1,300.00
otal										(\$67,924.21)

Revision 9/2/2025 Page 2 of 12



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	tion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9P3575	FAF 61-5(39)	Drainage improvements	61	CAPE GIRARDEAU	from Williams Creek	to the south intersection of N	Mount Auburn Road
Totals b	oy Job N	umbers					
J9P3575					This Estimate	Previous	To Date
		d Item Pay s Item Adjustme		Item Pay	\$184,943.40 (\$67,924.21) <b>\$117,019.19</b>	\$816,489.64 \$144,305.05 <b>\$960,794.69</b>	\$1,001,433.04 \$76,380.84 <b>\$1,077,813.88</b>
	Incen				\$0.00	\$0.00	\$0.00
	Liquid	centive dated Damages · Contract Adjus			\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00

Revision 5/29/2025 Page 3 of 12



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6089905, Project Item Line Number 0050, Material Set 608990596, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6089905, Project Item Line Number 0050, Material Set 608990596, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6089905, Project Item Line Number 0050, Material Set 608990596, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6091041, Project Item Line Number 0060, Material Set 609104196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6091041, Project Item Line Number 0060, Material Set 609104196, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6116010A, Project Item Line Number 0110, Material Set 6116010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 6116010A, Project Item Line Number 0110, Material Set 6116010A96, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	PAL information has been provided but not entered into AWP by MoDot	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 8025006, Project Item Line Number 0290, Material Set 8025006, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Waiting on certification from contractor	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 8051000A, Project Item Line Number 0310, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Waiting on certification from contractor	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 8051000A, Project Item Line Number 0310, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Waiting on certification from contractor	canton1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3575, Item 8051000A, Project Item Line Number 0310, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Waiting on certification from contractor	canton1	Overridden
Estimate Exception Type: Item Overrun: Contract 241018-H01, Contract Project J9P3575, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6116010A, Minor Item.	Waiting for change order	canton1	Acknowledged

Revision 5/29/2025 Page 4 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
41018-	J9P3575	0001	0010	1041000	TEMPORARY SURFACING	925.00	0.00	925.00	CUYD	26.00	\$58.54	\$1,522.0
01		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.85	\$95,000.00	\$80,750.0
		0001	0030	2063500	CULVERT CLEANOUT	17.00	0.00	17.00	EA	6.00	\$1,500.00	\$9,000.0
		0001	0040	2072000	LINEAR GRADING CLASS 2	92.00	0.00	92.00	STA	71.80	\$1,630.00	\$117,034.0
		0001	0050	6089905	MISC.8" Modified Paved Approach	2,743.00	0.00	2,743.00	SQYD	1,703.30	\$88.00	\$149,890.4
		0001	0060	6091041	CONCRETE GUTTER TYPE A	56.00	0.00	56.00	LF	48.60	\$125.00	\$6,075.0
		0001	0070	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	3,920.00	0.00	3,920.00	CUYD	1,867.00	\$30.00	\$56,010.0
		0001	0800	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	3,385.00	0.00	3,385.00	CUYD	3,605.70	\$35.00	\$126,199.5
		0001	0090	6096041	PLACING TYPE 1 ROCK DITCH LINER	3,920.00	0.00	3,920.00	CUYD	1,867.00	\$30.00	\$56,010.0
		0001	0100	6096042	PLACING TYPE 2 ROCK DITCH LINER	3,385.00	0.00	3,385.00	CUYD	3,605.70	\$30.00	\$108,171.0
		0001	0110	6116010A	SLOPE PROTECTION	40.00	0.00	40.00	SQYD	227.40	\$146.00	\$33,200.4
		0001	0120	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$18,000.00	\$18,000.0
		0001	0130	6161005	CONSTRUCTION SIGNS	313.00	0.00	313.00	SQFT	313.00	\$7.70	\$2,410.1
		0001 0140 6161025		6161025	CHANNELIZER (TRIM-LINE)	200.00	0.00	200.00	EA	140.00	\$24.20	\$3,388.0
		0001	0150	6161030	TYPE 3 MOVEABLE BARRICADE	20.00	0.00	20.00	EA	7.00	\$203.50	\$1,424.5
		0001	0160	6161033	DIRECTION INDICATOR BARRICADE	25.00	0.00	25.00	EA	25.00	\$77.00	\$1,925.0
		0001	0170	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,300.00	\$6,600.0
		0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$75,000.00	\$75,000.0
		0001	0190	6240104A	SEPARATION GEOTEXTILE	24,366.00	0.00	24,366.00	SQYD	15,140.00	\$2.79	\$42,240.6
		0001	0200	7250315A	15 IN. PIPE GROUP B	158.00	0.00	158.00	LF	158.00	\$98.00	\$15,484.0
		0001	0210	7250318A	18 IN. PIPE GROUP B	115.00	0.00	115.00	LF	115.00	\$100.00	\$11,500.0
		0001	0220	7250324A	24 IN. PIPE GROUP B	367.00	0.00	367.00	LF	353.00	\$125.00	\$44,125.0
		0001	0230	7250330A	30 IN. PIPE GROUP B	60.00	0.00	60.00	LF	60.00	\$135.00	\$8,100.0
		0001	0240	7250354A	54 IN. PIPE GROUP B	120.00	0.00	120.00	LF	120.00	\$200.00	\$24,000.0
		0001	0250	7250360A	60 IN. PIPE GROUP B	160.00	0.00	160.00	LF	50.00	\$250.00	\$12,500.0
		0001	0260	7252005	CORRUGATED METALLIC-COATED STEEL PIPE-ARCH TYPE B-5	116.00	0.00	116.00	LF	116.00	\$115.00	\$13,340.0
		0001	0270	7261054	54 IN. PIPE GROUP A	470.00	0.00	470.00	LF	0.00	\$275.00	\$0.0
		0001	0280	7321021A	54 IN. OR ALLOWED SUBSTITUTE SAFETY SLOPE END SECTION	4.00	0.00	4.00	EA	4.00	\$10,500.00	\$42,000.0
		0001	0290	8025006	MULCHING	2.10	0.00	2.10	ACRE	0.50	\$2,500.00	\$1,250.0
		0001	0300	8031000A	TURF TYPE TALL FESCUE SODDING	3,400.00	0.00	3,400.00	SQYD	0.00	\$9.00	\$0.0
		0001	0310	8051000A	SEEDING - COOL SEASON GRASSES	2.10	0.00	2.10	ACRE	0.50	\$2,600.00	\$1,300.
	Project J	9P3575 - <u>T</u> o	tal Value	Posted to D	Date as of Report Generated Date							\$1,068,449.

Revision 5/29/2025 Page 5 of 12



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3575

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2022010	REMOVAL OF IMPROVEMENTS	8/18/25	8/18/25	1	0.05	LS	SB Rte 61 @ Entrance to State Farm	287.805		287.805		
				8/18/25	2	0.05	LS	SB Rte 61 @ Entrance to Furniture Finds	287.775		287.775		
			8/19/25	8/19/25	1	0.05	LS	NB Rte 61 @ N. Entrance of Budget Inn	287.500		287.500		
			8/20/25	8/20/25	1	0.05	LS	NB Rte 61 @ Entrance of Church of Jesus Christ LDS	286.846		286.846		
			8/25/25	8/25/25	1	0.05	LS	NB Rte 61 @ S. Entrance to Budget Inn	287.525		287.525		
			8/26/25	8/26/25	1	0.05	LS	NB Rte 61 @ Entrance to World of Honda	286.878		286.878		
1040	2072000	LINEAR GRADING CLASS 2	8/28/25	8/28/25	1	1.70	STA	NB Rte 61 Concrete ditches @ Budget Inn	287.480		287.525		
0050	6089905	MISC. CONCRETE	8/18/25	8/18/25	1	48.00	SQYD	SB Rte 61 @ Entrance to State Farm	287.805		287.805		36' x 12' Paved Approach 4 Tie Bars, Air: 5.7, Slump: 4, Temp: 89
			8/19/25	8/19/25	1	126.50	SQYD	SB Rte 61 @ Entrance to Furniture Finds	287.775		287.775		49.5' x 23' Paved Approach 26 Tie Bars, 3 Dowel Baskets, Air: 5.5, Slump: 4, Temp 91
			8/20/25	8/20/25	1	80.20	SQYD	NB Rte 61 @ N. Entrance of Budget Inn	287.500		287.500		38' x 19' Paved Approach 14 Tie Bars, 3 Dowel Baskets, Air: 5.4, Slump: 4, Temp 88
			8/21/25	8/21/25	1	90.00	SQYD	NB Rte 61 Entrance @ Church of Jesus Christ LDS	286.846		286.846		40.5' x 20 Paved Approach 20 Tie Bars, 3 Dowel Baskets, Air: 6.3, Slump: 4, Tem 89
			8/27/25	8/27/25	1	139.50	SQYD	NB Rte 61 S. Entrance @ Buget Inn	287.525		287.525		46.5' x 27' Paved Approach 21 Tie Bars, 4 Dowel Baskets, Air: 5.5, Slump: 4.5, Ter 78
				8/27/25	2	71.80	SQYD	NB Rte 61 Entrance @ old World of Honda	286.878		286.878		38' x 17' Paved Approach 21 Tie Bars, 3 Dowel Baskets, Air: 5.8, Slump: 4, Tem 82
1110	6116010A	SLOPE PROTECTION	8/21/25	8/21/25	1	50.10	SQYD	NB Rte 61 N. Slope Protection @ N. Entrance to Budget Inn	287.500		287.500		(19.5 x 9.5') + (20' x 9.5') + (9.5' x 8') Slope Protection
			8/25/25	8/25/25	1	61.80	SQYD	NB Rte 61 S. Side Slope Protection @ N. Entrance to Budget Inn	287.500		287.500		(23' x 9.5') + (23' x 9.5') + (9.5' x 12.5')
200	7250315A	15 IN. PIPE CULVERT GROUP B	8/18/25	8/18/25	1	42.00	LF	SB Rte 61 @ Entrance to State Farm	287.805		287.805		42' of 15" Group B Pipe
				8/18/25	2	50.00	LF	SB Rte 61 @ Entrance to Furniture Finds	287.775		287.775		
240	7250354A	54 IN. PIPE CULVERT GROUP B	8/19/25	8/19/25	1	60.00	LF	NB Rte 61 @ N. Entrance of Budget Inn	287.500		287.500		60' of 54" Group B Pipe
			8/25/25	8/25/25	1	60.00	LF	NB Rte 61 @ S. Entrance to Budget Inn	287.525		287.525		60' of 54" Group B Pipe
260	7252005	CORRUGATED STEEL PIPE-ARCH B-5	8/20/25	8/20/25	1	60.00	LF	NB Rte 61 @ Entrance of Church of Jesus Christ LDS	286.846		2864.846		60' of B-5 Pipe Arch
			8/26/25	8/26/25	1	56.00	LF	NB Rte 61 @ Entrance to World of Honda	286.878		286.878		
1280	7321021A	54 IN. SAFETY SLOPE END SECTION	8/19/25	8/19/25	1	2.00	EA	NB Rte 61 @ N. Entrance of Budget Inn	287.500		287.500		2: End Safety Slope Pieces
			8/25/25	8/25/25	1	2.00	EA	NB Rte 61 @ S. Entrance to Budget Inn	287.525		287.525		
290	8025006	MULCHING	8/18/25	8/18/25	1	0.01	ACRE	Gutters N. and S. of Marsha Kay Dr.	288.290		288.279		
310	8051000A	SEEDING - COOL SEASON GRASSES	8/18/25	8/18/25	1	0.01	ACRE	Gutters N. and S. of Marsha Kay Dr.	288.290		288.279		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 6 of 12



		_				_			_
ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3575	0050	MISC. CONCRETE	Material		2	Jul 16, 2025	SYSTEM	(\$50,195.20)	
					2	Jul 16, 2025	SYSTEM	\$50,195.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user canton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Aug 1, 2025	SYSTEM	(\$73,726.40)	
					3	Aug 1, 2025	SYSTEM	\$73,726.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user canton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Aug 15, 2025	SYSTEM	(\$100,962.40)	
					4	Aug 15, 2025	SYSTEM	\$100,962.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user canton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Sep 2, 2025	SYSTEM	(\$149,890.40)	
					5	Sep 2, 2025	SYSTEM	\$149,890.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user canton1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot					\$0.00	
			Other Item Adjustment	MDPA	2	Jul 16, 2025	canton1	(\$5,019.52)	Waiting on clear compound PAL, gradation results and concrete results
				MDPA - Tot	al			(\$5,019.52)	
				OTHR	3	Aug 1, 2025	canton1	\$5,019.52	Contractor provided documentation
				OTHR - Tota	al			\$5,019.52	
			Other Item A	djustment - T	otal			\$0.00	
	0050 -							\$0.00	
	0060	CONCRETE GUTTER TYPE A	Material		4	Aug 15, 2025	SYSTEM	(\$6,075.00)	
					4	Aug 15, 2025	SYSTEM	\$6,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user canton1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Sep 2, 2025	SYSTEM	(\$6,075.00)	
					5	Sep 2, 2025	SYSTEM	\$6,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user canton1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0060 -	Total						\$0.00	
	0800	FURN. TYPE 2 ROCK DITCH LINER	Material		2	Jul 16, 2025	SYSTEM	(\$7,000.00)	
		LINEX			2	Jul 16, 2025	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user canton1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	080 -	Total						\$0.00	
	0110	SLOPE PROTECTION	Material		5	Sep 2, 2025	SYSTEM	(\$16,337.40)	
					5	Sep 2, 2025	SYSTEM	\$16,337.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user canton1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00		
		Material - Tot	tal				\$0.00		
	_	Overrun	Overrun	5	Sep 2, 2025	SYSTEM	(\$10,497.40)		
				Overrun - Total (\$				(\$10,497.40)	
			Overrun - To	tal				(\$10,497.40)	



1993   1993   1994   1995	Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
1				Туре		Number	Date	Ву		
MOUNTED   2025	J9P3575	0110 -	Total						(\$10,497.40)	
CHAP   2		0120	MOUNTED	Material		2		SYSTEM	(\$18,000.00)	
2025   2025						2		SYSTEM	\$18,000.00	Estimate Item Adjustment (0003) due to user canton1 overridding Payment
2025   September   Construction   Augustness (2002) due to under centers overading Payment   Estimate Exception of the outront Payment Estimate.   September   Augustness (2003) due to under Construction   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2003) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   Augustness (2004) due to under centers overading Payment   September   Augustness (2004) due to under centers overading Payment   Augustness (2004) due to under centers ove						3		SYSTEM	(\$18,000.00)	
A						3		SYSTEM	\$18,000.00	Estimate Item Adjustment (0002) due to user canton1 overridding Payment
Total						4		SYSTEM	(\$18,000.00)	
Material - Total						4		SYSTEM	\$18,000.00	Estimate Item Adjustment (0003) due to user canton1 overridding Payment
130   CONSTRUCTION   Material   2					- Total				\$0.00	
CONSTRUCTION   Material				Material - Tot	tal				\$0.00	
2025   2		0120 -	Total						\$0.00	
2		0130		Material		2		SYSTEM	(\$800.80)	
Naterial - Total   System						2		SYSTEM	\$800.80	Estimate Item Adjustment (0004) due to user canton1 overridding Payment
0140   CHANNELIZER (TRIM-LINE)					- Total				\$0.00	
O140   CHANNELIZER (TRIM-LINE)				Material - Tot	tal				\$0.00	
CTRIM-LINE   2025   2		0130 -	Total						\$0.00	
Construction   Cons		0140				2		SYSTEM	(\$2,226.40)	
Material - Total   \$0.00						2		SYSTEM	\$2,226.40	Estimate Item Adjustment (0005) due to user canton1 overridding Payment
National   Suppose   Sup									\$0.00	
Naterial   2				Material - Tot	tal				\$0.00	
2025   2		0140 -	Total						\$0.00	
2 Jul 16, SYSTEM \$1,424.50 Estimate ltem Adjustment (5fests the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate.  **Total***  **Total**  **To		0150	MOVEABLE	Material		2		SYSTEM	(\$1,424.50)	
Material - Total   \$0.00			BARRICADE			2		SYSTEM	\$1,424.50	Estimate Item Adjustment (0006) due to user canton1 overridding Payment
170   CHANGEABLE   Material   2   Jul 16, 2025   SYSTEM   (\$6,600.00)					- Total				\$0.00	
0170 CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE. CONTRACTOR FURNISHED / RETAINED Material - Total Summer Stockpile - Total Superior Stockpile - Total (\$1,070.22)  Construction Stockpile - Total (\$1,070.22)  Construction Stockpile - Total Construction Stockpile - Total STMI				Material - Tot	tal				\$0.00	
MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED  1 Total  1		0150 -	Total						\$0.00	
COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED  Material - Total  COnstruction Stockpile  - Total  2 Jul 16, 2025 SYSTEM \$6,600.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user canton1 overridding Payment Estimate Exception 12 on the current Payment Estimate.  S0.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user canton1 overridding Payment Estimate Exception 12 on the current Payment Estimate.  S0.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment Estimate Item Adjustment Generated Stockpile Transaction  S0.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment Estimate Item Adjustment Generated Stockpile Transaction  S0.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment Generated Stockpile Transaction Sto		0170	MESSAGE SIGN	Material		2		SYSTEM	(\$6,600.00)	
RETAINED    Material - Total   \$0.00			COMMUNICATION INTERFACE, CONTRACTOR			2		SYSTEM	\$6,600.00	Estimate Item Adjustment (0007) due to user canton1 overridding Payment
Solution   Stockpile   Construction   Const					- Total				\$0.00	
0200 15 IN. PIPE CULVERT GROUP B  4 Aug 15, 2025 SYSTEM (\$447.05) Payment Estimate Item Adjustment generated Stockpile Transaction  5 Sep 2, 2025 SYSTEM (\$623.17) Payment Estimate Item Adjustment generated Stockpile Transaction  - Total (\$1,070.22)  Construction Stockpile - Total (\$1,070.22)  Construction Stockpile STMI				Material - Tot	tal				\$0.00	
CULVERT GROUP B  Stockpile  2025  5 Sep 2, 2025  (\$623.17) Payment Estimate Item Adjustment generated Stockpile Transaction  - Total  (\$1,070.22)  Construction Stockpile - Total  Construction Stockpile  1 Jun 30, SYSTEM \$1,070.22  Payment Estimate Item Adjustment generated Stockpile Transaction  \$1,070.22  Payment Estimate Item Adjustment generated Stockpile Transaction		0170 -	Total						\$0.00	
- Total (\$1,070.22)  Construction Stockpile - Total (\$1,070.22)  Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI		0200	CULVERT GROUP			4		SYSTEM	(\$447.05)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile - Total (\$1,070.22)  Construction 1 Jun 30, SYSTEM \$1,070.22 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI						5		SYSTEM	(\$623.17)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction 1 Jun 30, SYSTEM \$1,070.22 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI					- Total				(\$1,070.22)	
Stockpile 2025			Construction	Stockpile - 1	Total			(\$1,070.22)		
- Total \$1,070.22			Co	Stockpile		1		SYSTEM	\$1,070.22	Payment Estimate Item Adjustment generated Stockpile Transaction
		S	STIVII	- Total				\$1,070.22		



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks		
				Туре							
J9P3575	0200	15 IN. PIPE CULVERT GROUP		n Stockpile ST			SYSTEM	\$1,070.22			
		В	Material		4	Aug 15, 2025	STSTEIN	(\$6,468.00)			
					4	Aug 15, 2025	SYSTEM	\$6,468.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user canton1 overridding Payment Estimate Exception 7 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To	tal				\$0.00			
	0200 -	Total						\$0.00			
	0210	18 IN. PIPE CULVERT GROUP B	Construction Stockpile		2	Jul 16, 2025	SYSTEM	(\$657.91)	Payment Estimate Item Adjustment generated Stockpile Transaction		
		Б			4	Aug 15, 2025	SYSTEM	(\$506.09)	Payment Estimate Item Adjustment generated Stockpile Transaction		
				- Total				(\$1,164.00)			
			Construction	Stockpile - 1	otal			(\$1,164.00)			
			Construction Stockpile STMI		1	Jun 30, 2025	SYSTEM	\$1,164.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
			O 11011	- Total				\$1,164.00			
			Construction	Stockpile ST	MI - Total			\$1,164.00			
			Material		2	Jul 16, 2025	SYSTEM	(\$6,500.00)			
					2	Jul 16, 2025	SYSTEM	\$6,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user canton1 overridding Payment Estimate Exception 13 on the current Payment Estimate.		
					3	Aug 1, 2025	SYSTEM	(\$6,500.00)			
					3	Aug 1, 2025	SYSTEM	\$6,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user canton1 overridding Payment Estimate Exception 5 on the current Payment Estimate.		
					4	Aug 15, 2025	SYSTEM	(\$11,500.00)			
					4	Aug 15, 2025	SYSTEM	\$11,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user canton1 overridding Payment Estimate Exception 8 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To	tal				\$0.00			
	0210 -	Total						\$0.00			
	0220	24 IN. PIPE CULVERT GROUP	Construction Stockpile		2	Jul 16, 2025	SYSTEM	(\$4,879.31)	Payment Estimate Item Adjustment generated Stockpile Transaction		
		В			4	Aug 15, 2025	SYSTEM	(\$623.56)	Payment Estimate Item Adjustment generated Stockpile Transaction		
				- Total				(\$5,502.87)			
			Construction	Stockpile - 1	Total .			(\$5,502.87)			
			Construction Stockpile		1	Jun 30, 2025	SYSTEM	\$5,721.11	Payment Estimate Item Adjustment generated Stockpile Transaction		
			STMI	- Total				\$5,721.11			
			Construction	Stockpile S	ГМI - Total			\$5,721.11			
			Material		2	Jul 16, 2025	SYSTEM	(\$39,125.00)			
					2	Jul 16, 2025	SYSTEM	\$39,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user canton1 overridding Payment Estimate Exception 14 on the current Payment Estimate.		
					3	Aug 1, 2025	SYSTEM	(\$39,125.00)			
				-	3	Aug 1, 2025	SYSTEM	\$39,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user canton1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
					4	Aug 15, 2025	SYSTEM	(\$44,125.00)			
							4	Aug 15, 2025	SYSTEM	\$44,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user canton1 overridding Payment Estimate Exception 9 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
9P3575	0220	24 IN. PIPE	Material	- Total				\$0.00	
		CULVERT GROUP B	Material - Tot	tal				\$0.00	
	0220 - Total							\$218.24	
	0230	30 IN. PIPE CULVERT GROUP B	Construction Stockpile		4	Aug 15, 2025	SYSTEM	(\$1,370.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,370.00)	
			Construction  Construction	Stockpile -	1 otal	Jun 30,	SYSTEM	(\$1,370.00) \$1,370.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	- Total	'	2025	STSTEW	\$1,370.00	rayment Estimate nem Aujustinent generateu Stockpile Transaction
			Construction	- Fotal Stockpile STMI - Total				\$1,370.00	
			Material	- CtCCMpiic C	4	Aug 15,	SYSTEM	(\$8,100.00)	
					4	2025 Aug 15,	SYSTEM	\$8,100.00	This adjustment offsets the original system-generated Material Payment
						2025	OTOTEM	ψο, 100.00	Estimate Item Adjustment (0011) due to user canton1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0230 -							\$0.00	
	0240	54 IN. PIPE CULVERT GROUP B	Construction Stockpile		5	Sep 2, 2025	SYSTEM	(\$12,165.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total					(\$12,165.60)	
			Construction Stockpile - Total				2)/2===1/	(\$12,165.60)	
			Construction Stockpile STMI		1	Jun 30, 2025	SYSTEM	\$12,165.60	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total					\$12,165.60	
	0240	Total	Construction Stockpile STMI - Total					\$12,165.60 \$0.00	
	<b>0240 -</b> 0250	60 IN. PIPE	Construction		3	Aug 1,	SYSTEM	(\$6,437.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0230	CULVERT GROUP B	Stockpile	- Total	, and the second	2025	CICILIN	(\$6,437.50)	Tayrion Estimate for Agazinent generated etection
			- Total  Construction Stockpile - Total					(\$6,437.50)	
			Construction Stockpile STMI		1	Jun 30, 2025	SYSTEM	\$20,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total		2023		\$20,600.00	
			Construction	uction Stockpile STMI - Total				\$20,600.00	
	0250 -	Total						\$14,162.50	
	0260	CORRUGATED STEEL PIPE- ARCH B-5	Construction Stockpile		5	Sep 2, 2025	SYSTEM	(\$6,663.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$6,663.04)	
			Construction	Stockpile - 1	Total			(\$6,663.04)	
			Construction Stockpile STMI		1	Jun 30, 2025	SYSTEM	\$6,663.04	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$6,663.04	
			Construction Stockpile STMI - Total					\$6,663.04	
	0260 -						aa===	\$0.00	
	0270	54 IN. PIPE GROUP A	Construction Stockpile STMI		1	Jun 30, 2025	SYSTEM	\$72,497.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total  Construction Stockpile STMI - Total					\$72,497.50	
	0270 -	Total	Construction	-Stockpile S	HWII - TOTAL			\$72,497.50 \$72,497.50	
	0270 -	54 IN. SAFETY	Construction		5	Sep 2,	SYSTEM	(\$37,975.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0200	SLOPE END SECTION	Stockpile	- Total		2025	STOTEW	(\$37,975.00)	. Symmetric Source and Adjusting Source of Octobric Harisacidal
			Construction		Total			(\$37,975.00)	
			Construction	-отоскрпе -	1	Jun 30,	SYSTEM	\$37,975.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Jonardonon		'	Juli JU,	STOTEW	ψυ1,910.00	Taymon Edimate nom Adjustment generated Glockpile Transaction





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3575	0280	54 IN. SAFETY SLOPE END SECTION	Stockpile STMI			2025			
				- Total				\$37,975.00	
			Construction Stockpile STMI - Total					\$37,975.00	
	0280	0 - Total						\$0.00	
	0290	MULCHING	Material		4	Aug 15, 2025	SYSTEM	(\$1,225.00)	
					4	Aug 15, 2025	SYSTEM	\$1,225.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user canton1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					5	Sep 2, 2025	SYSTEM	(\$1,250.00)	
					5	Sep 2, 2025	SYSTEM	\$1,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user canton1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0290	) - Total						\$0.00	
	0310	SEEDING - COOL SEASON GRASSES	Material		4	Aug 15, 2025	SYSTEM	(\$1,274.00)	
					4	Aug 15, 2025	SYSTEM	\$1,274.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user canton1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					5	Sep 2, 2025	SYSTEM	(\$1,300.00)	
					5	Sep 2, 2025	SYSTEM	\$1,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user canton1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0310 -	- Total						\$0.00	
J9P3575	- Total							\$76,380.84	
Overall -	Overall - Total								

## MoDOT

### Contract Adjustments for Contract - 241018-H01

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 12 of 12